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1

When the Constitutional Amendment Act was
enacted to make the Panchayati Raj Institutions a
third level of government?

(A) 1994 (B) 1992

(C) 1998 (D) 2001

Question|d : 1
Who considered the neutrality of the Civil Services
most  important  aspect of  democratic
government?
(A) Woodrow Wilson

(€) Max Weber

(B) Earl Atley
(D) Herbert Simon

Question Id : 2

What is emphasised in the theory of scientific
management?

1. Rationality

2. Specialisation

3. Technical capacity
4. Predictability
What is correct?

(A) 1,2

€ 2,34

® 1,23
(D) 1,2,3,4

QuestionId : 3
Which Constitutional Amendment Act provided
for the establishment administrative tribunals?
(A) 42nd (B) 43rd
(C) 44th (D) 45th

Question Id : 4

Who administers the elections of municipal
corporations?
(A) State Election Commission

(B) Central Election Commission
(C) State Government

(D) Urban Development Department

Question Id : 5

1

Gege o RSl Bl WRGR B G WK
T & for duite Wi s @

ferfrafia gam o
(A) 1994 (B) 1992
(C) 1998 (D) 2001

Questiond : 1

fras Rifer Jamell @ TORET B AbaiA®
TREHN P it Ae<aqul & A A?

(A) g1 e (B) 3fet Ueet
(©) Hg T§R (D) @ A
Question|d: 2
e gey faerd ¥ W ogd e T
7
1. TN
2. faesEr
3. Th-Thl AHY
4. FTHT
HF AT T8l 87
(A) 1, 2 {B) 4 2.8
(G) "2, 3.4 {D) 4,2, 3, 4
Question Id : 3
ToRE  SRRel @ ween b1 wEEE e

Wi‘a*ﬁfﬁ e offaw # fear
(A) 424 (B) 439
(€) 443 (D) 45¢

Question Id : 4
TR PR & g &1 e B BRal 82
(8) 757 T oMM (B) FER YA AN
I ARBR (D) v e @9rT

Questionld : &

(c)
&7
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6.

9.

10.

.

Which kind of benefit can be drawn from social

audit?

(A) The disadvantaged groups get the benefits.

(B) It does not promote collective decision making
process.

() It develops financial resources and social
capital.

(D) It does not create deficit in the budget.

Question Id : 6

For which sector the administrative reforms
commission suggests reforms?
(A) Consumer protection mechanism

(B) Economic administrative mechanism
(©) Information Commission at the state level

(D) Disaster management
Questionld: 7
public

When was the classical theory of

administration developed?
(A) Later half of 20th century

(B) Later half of 19th century
(C) First half of 20th century
(D) First half of 18th century

Question Id : 8

The period of the Rolling Plan was
(A) 1980-86 (B) 1978-80
(€) 1985-90 (D) 1990-95

QuestionId : 9
The Second Five Year Plan was based on the
model of
(A) P.C. Mahalnobis

(€) V.K.R.V. Rao

(B) D.N. Gadgil
(D) B.R. Shenoy

Question Id : 10

What is not included in the para-military forces in
India?
(A) Asam Rifles

(B) Special Frontier Force
(€) Indian Coast Guard
(D) Indo- Tibetan Battalion

Question Id : 11

10.

11.

AR ofbeT @ P FPR BT AT I B

2?

() e T @ AT B €

(B) ¥z wmyRE FvieE AT BT iR Tel
CEGIR

(©) we friy Taw ok ame Jon AR
FHT B |

(D) ¥g sw ¥ G BT GoH el bRl T |

QuestionId : 6

BT G 87

(A) SUHIGRT FRET TIRAT

(B) anfde weTRAD SRl

(C) rog WR Al AR

(D) 3fueT HFEH

Question Id : 7

SrF T BT Foraed Rigr @9 AT
fopar T wm?
(&) 20 I P SN

108 TS & SN
203 T & ga
189 TR @ YA

(B)
(©)
(D)

Question Id : 8

iR @ @ sl ot

(A) 1980-86 (B) 1978-80
(€} 1985-90 (D) 1990-95

Questionid : 9
dy dgasiy doEn feae d@isd W S ISHEG]
o2
(A) G TEemfE  (B) €Ly e
€ FHaxrd. @ (D) IR REE

Question Id : 10

wa ¥ e g & o e @ e
(A) IR g

(8) WIRRE BieR BIF
(€ e oRe e
(D) goe-iEdas getferd

Question Id : 11
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12.

13.

14.

15.

16.

17.

When the Child Labour Act was enacted?
(A) 1987 (B) 1998
(C) 1986 (D) 1967

Question Id : 12

How many laws have been enacted specially for
the welfare of construction labour?

(A) 3 (B) 4
@ 2 (D) 7

Question Id : 13
MGNREGA provides employment to

(A) Only BPL families

(B) All families in rural areas

(€) Families who do not pay income tax.

(D) Non-beneficiary families of any government
scheme

Question Id : 14

The 1987 Amendment to Factories Act of 1948
provides for
(A) Occupational safety and health

(B) Weekly holidays

(€) Compensation for injuries during working
hours

(D) Decent wage

Question Id : 15

The Contract Labour Regulation and Abolition Act
in India was enacted in
(A) 1986

(€) 1967

(B) 1970
(D) 1999

Question Id: 16

What has been said about social welfare in the

Directive Principles of the State?

(A) State will secure a social order for the
promotion of welfare of the people.

(B) Equal justice and free legal aid
(€) Right to Work (D) All of these

Question Id : 17

13.

14.

et s ST we AT gan?
(A) 1987 (B) 1998
(C) 1986 (D) 1967

Question Id : 12
o sy wear & fov faftre wu | fbaq
FT AR gee
(A) 3
(€ 2

(B) 4
(D) 7

QuestionId : 13

TR SRR T Bl 8
(A) Fad 91.9.vd. gRART B

(8) wrfior 8 & Wt uRari @
(€) TRER S e} & N © |
(D) el FRP AroF & el aRART @l

Question Id : 14

T, 1948 HT 1987 HINEH UTIETH

(e, W 3

SE

BRG]
(A) caraeTfis RET SR wWRT

(B) JT<Ie® FAPIYI
(Q) w71F gvel & SR iy & fog afagfd
(D) sfa g+

Question Id : 15

yra F wWfer e e sk S
affm we R gsm

(A} 1986 (B) 1970

(C) 1967 (D) 1999

Question Id : 16

LTy B Y e R § Wi Sl

F gR F w1 BT TAT 872
A) T A Feaw @ Pl @ oy
TR egaRe gfREd S |

(B) oM =g AR Frges e were
(€ =i 31 R (D) I8 W

Question Id : 17
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18.

19.

20.

21,

22.

23.

24,

When the Unorganised Worker Social Security Act
was enacted?
(A) 2008

(€) 1992

(B) 1999
(D) 2002

Question Id : 18

The social welfare schemes of the Government of
India include
(A) Janani Suraksha Yojana

(B) 1ICDS
(€) Atal Pension Yojana (D) All of these

Question Id: 19

The greatest bottleneck in the implementation of
social welfare programs in India is
(A) Lack of information to the beneficiaries

(B) Lack of funds
(€) Lack of grass root level machinery

(D) All of these

Question Id : 20
Which bank initiated bankable microfinance
program in India?
(A) RRBs

(€) sBI

(B) NABARD
(D) SIDBI

Question Id : 21
Which of the following is a digital wallet?
(A) Paytm (B) Payment

(C) Orange (D) Pay time

Question Id : 22
Who is appointed as Attorney General of India?
(A) K.K. Venu Gopal (8) Mr. Mukul Rohtagi
(€) Achal Kumar Joti (D) Kaushik Basu

Question Id : 23

Who won Man Booker International prize for
20177
(A) Mr. David Grossman (B) Dr. Murthy

(C) Paul Betty (D) Mr. David Huntsman

Question Id : 24

18.

19.

20.

24,

22.

23.

B LA a1 s s i BRI

e gam?

(A) 2008 (B) 1999

() 1992 (D) 2002

TRY CRER B AMISG  Hedll grorEt |

e €
(A) S e Ao (B) ICDS

(C) acet Uy I (D) B AW

Question Id : 19

R § GTETNG BTl FRHE F HREET H
FIA T9T RY T 87
(A) wIfadl B TR BT A
(B) f~fS 1 3@
(C) oTuR W AT B A
(D) gg |
Question Id : 20
g ¥ 4 AR H oA AR HRIGH
ey fm?
(A) RRBs (8) NABARD
(€) SBI (D) SIDBI

Question Id : 21

fr= ¥ @ o W ve Rfea dive §2
(A) OSTH (B) Y¥e
(C) NS (D) ¥ eEH
Question Id : 22
vﬂajﬁma\aﬁﬁwmﬁﬁgﬁﬂ
F T2
(A) &%, oIS (B) = gt el
(©) s AR Sk (D) PIRE 99

Question Id : 23

24. 20

2317@%@3&@1@%%
() 5 e e (B) < o
(€) dfer Seet (D) = ST E<HHA

Question Id : 24
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25.

26.

27.

28.

29.

30.

31.

Which unmanned Tank is developed by DRDO?
(A) "Muntra” (B) “Mantra”

(€) “Mundra” (D) “Manthra”

Question Id : 25

Name the freedom fighter who published ‘Kesari’
to attract Indian youths into the freedom struggle.
(A) Gokhale (B) Tilak

(€) Nehru (D) Savarkar

Question Id : 26

Where can a Money Bill be introduced?

(A) In the Lok Sabha (B) In the Rajya Sabha

(€) In either House of the Parliament

(D) Only in a joint sitting of the two Houses
Question Id : 27

Whose signature appears on 100 - rupee notes?

(A) The RBI Governor

(B) The Finance Minister

(€) The Secretary, Ministry of Finance

(D) The President

Question Id : 28

Which is the longest river of the world?
(A) The Nile

(B) The Mississippi - Missouri
(C) The Yangtze (D) The Amazon

Question Id : 29
Which day is celebrated in India as the National
Sports Day?

(A) August 15 (B) August 29

(D) December 11

CQuestion Id : 30

(C) September 5

Going 50 m to the south of her house, Dimple
turns left and goes another 20 m. Then turning to
the north, she goes 30 m and then starts walking
to her house. In which direction is she walking
now?

(A) North-west

(€) South-east

(B) North
(D) East

Question Id : 31

25.

26.

27..

28.

29.

30.

L3 i

DRDO@RTW@QHW%H%WW
far T 27
(A)
(© d=1

&3

(B) w=T
(D) weRT

Question ki : 25
Ig WaAc cﬂﬁﬂTﬁWW?SﬁEQWHRFﬁ?I
z;tﬂ&ﬁaﬁ'qaa'wﬂﬂmﬁswﬁama%m

(A) TTraa (B) ot
€ B85 (D) FTGRHR

Question Id : 26
g7 F0 @) B URAd a1 S WAl 82
(8) S | H (B) <o 9T H
(€ e & et ff wed #
(D) et T wEA F gE doPb A

Question Id : 27

100¥7T F Ae R Thad EXNER B 87
(2) erd s TR (B) R wed
(© wfra frg 7=mer (D) gl

Question Id : 28

freg 1 way o TE B W B
(A) et (8) forefifrdt-FiTeT
(C) icsiT (D) 3RYSH

Question Id : 29

“W%ﬁﬁwﬁvr@a@@?ﬁava%m
¥ FERT ST 87

(A) 3IFTRET 15 (B) 3mr& 29
(€) TR 5 (D) feg=R 1

Question Id : 30
o R @ aRer & s0 AL omaw, R @i
fgfs?i%@ﬁ?mzorﬁﬁm?ﬁiélaraﬁw
feem # gSAR 30 #. o & &lR R e WX
ﬁ@ﬁﬂﬁuwaﬂﬁélma@aﬁﬂaﬁ
foom 4 T @ 87
(A) SER-ufReH (8) IR
(©) efwrgd (®) od

Question Id : 31
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32

33.

34,

35.

36.

37.

38.

A party consists of grandmother, father, mother,
four sons and their wives and one son and two
daughters to each of the sons. How many females
are there in all?
(A) 24

(€) 16

(B) 18
(D) 14

Question Id : 32
(a)P, Q, R, S, T are sitting in a circle facing the
center.
(b)R is immediate left of T.
(c)P is between Sand T.
Who is immediate left to ‘R’?
(A) P (B) Q

@ s oT
Question Id : 33

In a certain code, GUJARAT is written as
JXMDUDW. The code for MUMBAI is

(A) QXQFDL (B) PXPFDL
(C) PXPEDL (D) QXQEDL
Question Id : 34
2,3,5,7:11,13, ;19,23
(A) 15 (B) 17
(€) 14 (D) 18

Question Id : 35

If FULFNHW is the code for CRICKET, then EULGH
is the code for which word?

(A) PRIDE (B) BRIDE
(C) BLADE (D) BLIND
Question Id : 36
SMELL: NOSE :: SOUND:?
(A) EAR (B) EYE
(€) musiIC (D) TRUMPET

Question Id : 37
Present ages of Samir and Anand are in the ratio
of 5 : 4 respectively. Three years hence, the ratio
of their ages will become 11:9 respectively. What
is Anand's present age in years?
(A) 24 (B) 27

(€) 40 (D) 35

Question Id : 38

32.

33.

34.

35.

36.

3.

38.

ve ot # e o, o wEL AR g
ST Rt ok TR gF W a gl
s g & | 39 we o "Rk 82

(A) 24
(€) 16

Question Id : 32

Question Id : 33
fpet ge ww ¥ GUIARAT ferar mam 2
JIXMDUDW, & MUMBAI foren Smeem
(A) QXQFDL (8) PXPFDL
(©) PXPEDL (D) QXQEDL
Question Id : 34
ol g 5 7 M43, | e 28
(A) 15 (B) 17
(D) 18
Question Id : 35
7 FULFNHW @1 & CRICKET & fomg,
EULGH fra v & fow @1e 82
(A) PRIDE (8) BRIDE
(¢} BLADE (D) BLIND
Question Id : 36
SMELL: NOSE :: SOUND:?
(A)
(C

B\
D)

EYE
(P) TRUMPET

) MUSIC
TR SR A @) IEEE g R 5 1 4 F
s A & | om | AW as § ST I B
ST HHE 11:9 Bl ST | IS B G
o Tst | e 87

(A) 24 (B) 27

(€) a0 (D) 35

Question Id : 38
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39.

40.

41.

42,

43.

44.

A father said to his son, “At the time of your birth
| was as old as you are now .” If the father’s age is

38 years now, the son’s age before five years was:
(A) 14 (B) 19

(€) 33 (D) 38

CQuestion Id : 39

FIXED : VARIABLE :: SOLID :?
(A) ELASTIC (B) SPONGE

(C) HARD (D) SOFT

Question Id : 40
If (@a—2)%+ (b —2)*+ (c—2)% = 0.Then what
is the value of +/g2 + b2 + 2

(A) (B) 243

(B) 443

2'\@
© 43

Question Id : 41

For some integer m, every odd integer is of the

form
(A) 2m (B) 2m+1
(€ 2m+4 (D) None of these

Question Id : 42

The equation (x* + 1)? — x* = 0 has

(A) four real roots (B) two real roots

(€) no real roots (D) one real root

Question Id : 43

Mahesh, Mukesh and Magan were each born on
15 May, but in different years. Mahesh’s age was
twice old as Mukesh 4 years ago, and Magan will
be five years older than Mukesh one year from
now. If the total age of Mahesh, Mukesh and
Magan is 78, what is Mahesh’s current age?

(A) 32 (B) 30

(€) 29 (D) None of these

Question Id : 44

39

40.

41.

42.

43.

44,

v fdr aw ¥ @ el 8, “TRR 9 b
w3 9E s N R gRN W '
I et fiar #1 9% 38 9 2, 1 Uf¥ A9 Uge

T3 B 99 AN

(A) 14 (B) 19

(€ 33 (D) 38
Question Id : 39

FIXED : VARIABLE :: SOLID :?

(A) ELASTIC (B) SPONGE

(€ HARD (d) SOFT

AR (-2 +B—22+(—2*=0. T

V@ T B 4 2 P A e

(A) 242 (B) 243

@ 3 (O} 443

7% e m & e, e v guie ®

(A)  2m () 2m+1

(€ 2m+4 (D) s & P15 Tl
Question Id : 42

TR (a2 4+ 1) —x2=0F T

(A) TR el ol (8) 3 g A

(€) 7 et wor & (0) v g W
Question Id : 43

Ry, Py IR HE AEE B 16 7S B,

fpeg fAfr=T ast A gam ¥ | WY, GHA B AR
I e af 9€ GHA B MY | UM A TS
2T | Ot R g5 SR W @ A B AN
78 & ) 72w B GOAM MY ©
(A) 32 (8) 30

(€ 29 (D) T | Py el

Question Id : 44
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45,

46.

47.

48.

49.

In the sequence  400,200,100,50,... Find the
8th term.

(A) 3.125 (B) 4.125

(€) 5.125 (D) 2.125

Question Id : 45
A boat goes 30 km upstream and 44 km
downstream in 10 hours. In 13 hours, it can go 40
km upstream and 55 km downstream. Determine
the speed of the stream and that of boat in still
water.
(A) Speed of the boat in still water = 8 km/hr and

speed of stream = 3 km/hr

(B) Speed of the boat in still water =8 km/hr and
speed of stream = 4 km/hr

(€) Speed of the boat in still water =7 km/hr and
speed of stream = 3 km/hr

(D) Speed of the boat in still water =7 km/hr and
speed of stream =4 km/hr

Question Id : 46

What is the value of % + —3?

(A) 45 (B) 45
7 27

(€ 18 (D) None of these
28

Question Id : 47

What is the value of 3/100007?

(A) 10 (B) 100

(C) 1000 (D) None of these
Question Id : 48

Mr. Patel borrows3¥ 10,000 to pay for new

furniture. They will pay back the loan by making
12 monthly payments of ¥ 1085. How much does
loan cost?
(A) 13,030

(€) 13,040

(B) 13,020
(D) None of these

Question Id : 49

45.

46.

47.

48.

49.

SO 400,200,100,50,... 1 NSl (8th) T 2
(A) 3.125 (B) 4.125
(C) 5.125 (D) 2.125

Question Id : 45

ve dre (F9) 10 T § 30 km ORI B
from ¥ o 44 km R @1 fwm # oW € 118
que 3§ gE 40 km 9RT @ fodd feem 7 &R
55 km ©RT @1 fEm § ol & | g1 B ARk
AR ReR U § 9@ @ R S Y |

(A) Rew ot & W@ @ TR = 8 kmihr 3R

YR B T = 3 kmlhr
(8) Rer o § /@ @ MY = 8 kmihr 3R
gRT PY T = 4 km/hr
© Rex o=t § @ @ U = 7 kmihr @R
gRT B Td = 3 kmihr
(D) Reg U ¥ 7@ @ TR = 7 kmihr 3R
gRT B i = 4 km/hr
Question Id : 46
348 o1 99 W B2
4 i}
(A) 45 (8) 45
7 =
© 18 (D) s | Bi5 ol
28
Questonid:47
4710000 @' 9 w1 &7
(A) 10 (B) 100
(©) 1000 (D) g9 & B &I

Question Id : 48
S 9o § U BiER & U € 10,000 SR
frg | g8 99 U BT Z 1085 B ANG e
ok 12 R ¥ gETE | HO B el R R
22
(A) 13,030

(€} 13,040

(B) 13,020
(D) T Q@ PIg ol

Question Id : 49
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50.

51.

52.

53.

55.

56.

57.

If LCM and HCF of two numbers a and b are 13
and 182. If a is equal to 26, what is the value of b?

(A) 19 (B) 91
(€) 92 (D) 29
Question Id : 50
Sunken stomatas are present in
(A) Xerophytes (B) Hydrophytes
(C) Mesophytes (D) Epiphytes
Question Id : 51
Which body organs are surrounded by Meninges?
(A) Brain and Spinal cord
(B) Heart and Lungs
(C) Brain and Heart (D) Spinal cord and Liver
Question Id : 52
In a forest habitat , green plants are
(A) Primary producers  (B) Primary consumers
(C) Secondary consumers
(D) Decomposers
Question Id : 53

_is based on the phenomenon of
electromagnetic induction.
(A) Electric generator  (B) Electric bulb

(€) Electric fan (D) Tubelight

What is used to make Solar cells?
(A) Silicon (B) Nickel
(C) Platinum (D) Copper
Question Id : 55
Which of the following is not a conductor of
electricity?
(A) Glass (B) Copper
(€) Silver (D) Gold

Question Id : 56
The ability of an eye to focus near and distant
objects by adjusting the focal length. This is due to
(A) Myopia (B) Presbyopia
(€) Accomodation of the eye
(D) Hypermetropia

Question Id : 57

50

511

52.

53.

54,

55.

56.

57.

aﬁ{aﬁmimﬁaeﬁ?bfmwwmaﬁ
R TgaH qETad 13 iR 182 € | A @ @
Y 26 & @ b B 99 T EFM?

(A) 19 (B) o1
(€ 92 (D) 29
Question Id : 50
Ryps 8T &1 HNE 8 ©
(A) wogf¥e (B) iAgE
(€ THEfE (D) afearey
Question Id : 51

¥R % B T 3T GIfeT gRT IERd B 82
(&) wResr g7 Hvee (B) wSU IUT BhS

(C) aRass JaT §ed

(D) e TAT AP

Question Id : 52

T S fraaE # 'R uey B €
(A) e ITe® (8) wufi®w SUHIER

(€) fzdge Suarer (D) sggcsd

Question Id : 53

feE-dedig IO % 0T (STEordan)

R YIRS &l
(&) fareg i (8) frge wed
(©) foga war (D) cyEese
Question Id : 54
TR I 99 H T YR BT 82
(A) Ryfeai= (B) ffepet
(©) e (D) PR ()
Question Id : 55
e % @ B9 @ Ry T T8 82
(8) &= (B) dfam
(© =t (D) |
Question Id : 56

SfEl @ e T oY B avgdl @l BIHd
TS BT FERIST BRG Bred PR Bl G

(A) feegfte (B) TRgfeq

(©) &l o7 FuEeE (D) ERTRHEg e

Question Id : 57
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58. Which ions are formed by metal atoms? 58. ¢rifogey QU A B A MIT I 87
(A) Positive (B) Negative (A) garcHF (B) =umcH®
(€) Neutral (D) None (€) SerRE (D) ®Ig &l
Question Id : 58 Question Id : 58
59. Which of the following is a strong acid? 5. =1 § @ B9 91 Y9 RIS 872
(A} H,PO, (B) HF (A)  H3PO, () HF
© HNO, () H,C,0, (©  HNO, ®  H,C,0,
Question Id : 59 Question Id : 59
60. The modern periodic table is given by 60. MYfTH omad AR & g ©
(A) Mendeleev (B) Einstein (A) Huger (B) aMgReTSH
(€) Bohr (D) Moosely (€ IR (D) Ao
Question Id : 60 Question Id : 60

Page: 11




61.

62.

63.

64.

65.

ENGLISH LANGUAGE

Select the word or group of words from the
following that is most similar in meaning to the
word in Capital Letters.

EXPOSTULATED

(A) Requested

(B) Quarrelled ferociously
(C) Remonstrated
(D) Appealed with good reason

Question Id : 61

Select the word or group of words from the
following that is most similar in meaning to the
word in Capital Letters.

PLACATE
(A) Implore (B) Flatter
(€) Pacify (D) Compensate

Question Id : 62

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.

ABOLISH

(A) revoke (B) repair

(€) suppress (D) terminate

Question Id : 63

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.
CONTENT

(A) exhausted

(C) dissatisfied

(B) peaceful
(D) excited

Question Id : 64

In the following question, four alternatives are
given for the Idiom/Phrase. Choose the alternative
which best expresses the meaning of the
Idiom/Phrase.
A close shave
(A) stubble

(C) very short hair

(B) hairless skin

(D) a narrow escape from danger

Question Id : 65

66. In the following question, four alternatives are

given for the Idiom/Phrase in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.

After getting a severe scolding from his mother,
Raghav got down to business.

(A) joined his father's business.

(B) began to work seriously.

(€) became businesslike. (D) started a business.
Question Id : 66

. Give one word substitute for the following

expression.
One who is unable to pay his debts.

(A) Matinee (B) Credulous
(€) Soporific (D) Insolvent

Question Id : 67

. Give one word substitute for the following

expression.
A speech
preparation.
(A) Cosmopolite
(C) Theist

delivered without any previous

(B) Extempore
(D) Idolatry

Question Id : 68

. Supply suitable article in the following blank if

needed.

Helis doctor.

(A) a (B) an

(C) the (D) no article needed.

Question Id : 69

. Supply suitable article in the following blank if

needed.

He drives at a speed of 90 miles _

hour.

(A) a (B) an

(C) the (D) no article needed.

Question Id : 70
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1.

72.

73.

74.

75.

76.

g

fa=Y W

'ﬁT+3FT @ A %\
(A) o=

() g+

(B) Hre=

(D) war=

Arpr I BT gAdrE @

(A) T, B (B) vTH, 3MRTR
(©) aRdh, SeraE (D) g, SuaH

Question Id : 72

A T BT yatgard) T8 ©

(A) T (B) &t

(© =fy (D) ¥

U0 YT B el ®

(A) S (B) foire

(©) ot (D) IR

Question Id : 74

AR TS BT A

A 97 (B) 3R

(© =TR<s (D) Iy

AR FT W@ IR BT I T

(A) 2R BT (B) T & PR ST
(€ Hud i (D) g WREME B

SRE T ST A RS ArbIe @1 FEl 3
2

(A) T @ A B

(B) TUr & faeg AW B

(©) i @ g 1 <

(D) SRAT I IOT I

Question Id : 77

g fwe gew SwaM AR § ord i

FiEr @i § B G DR 27
(A) YTSIRT YT JEADBR
(B) TH& IIDR

(€) orprt seR (D) BIg T
Question Id : 78
. Al §ER BT BF 1 YBR 87
(A) greodtvre F9 (B) dcgoy HH
(€) FHIRT FHN (D) fgvy AN
s0. B & @ B A o e & |
(A) aeitare (B) Iooadd
(© wfafas (D) ARSI
Question Id : 80
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81.

82.

83.

85.

86.

87.

88.

Near which district of Haryana Morni hills are
situated?
(A) Panchkula

(C) Yamunanagar

(B) Karnal
(D) Ambala

Question Id : 81

First Chief Minister of Haryana State was
(A) B.D. Sharma (B) Bansi Lal

(C) Devi Lal (D) None of these

Question Id : 82

Neem Sahib Gurudwara is located in which
district of Haryana?

(A) Panipat (B) Panchkula

(€) Kaithal (D) Rewari
Question Id : 83
During which year Haryana state was formed?
(A) 1947 (B) 1950
(€) 1956 (D) 1966

Question Id : 84

Rao Tula Ram belonged to
(A) Narnaul (B8) Mahendragarh

(€) Rewari (D) Rohtak

Question Id : 85
Which of the following lakes is situated in
Haryana?
(A) Damdama Lake (B) Kotla Lake
(€) Khalilpur Lake (D) All of these

Question Id : 86

The festival of Gangaur is celebrated in the month
of
(A) January-February

(€) May-June

(B) March-April
(D) June-July
Question Id : 87

How many seats are allotted to the members of
Rajya Sabha from Haryana State?
(A) 5 (B) 8

(€) 10 (D) 12

Question Id : 88

81.

82.

83.

84.

85.

86.

87.

88.

W%Wﬁézﬁﬁquﬁ%ﬁ
Rerd 7

(A) dagel (B) wxel
() IHAFTFRR (D) erFITEAT
Question Id : 81
=R I & TR T A
(A) & v (B) SfamTdt
(€ A (D) g | FE I
Question Id : 82

S wifed TRERT eRamn & R R 9 R
' CIRIER] (B) TErget
(D) TSt

g v § gRamwn I5g BT TS gA?

(A) 1947 (B) 1950
(C) 1956 (D) 1966
Custon 84
I R BT A ®
© Y (D) zTH A
Question Id : 85
e 3 @ sRaor § oW @ e Rua g2
(A) <weAT Siie (8) wreer S
(€) WeAgR el (0) & |

Question Id : 86

ol BT SRR 59 AE § AR S 82

(A) SER-BRa (8) =el-apret
(©) w5 (D) IS

Question Id : 87

=R 7T A ST G e ¥ o e
Lt o1 e v T 87
(A) 5 (B) 8
(€ 10 (D) 12

Question Id : 88
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89.

90.

91.

92.

93.

94.

95.

96.

Which of the following States is located to the
North of Haryana?
(A} Uttar Pradesh

(€) Himachal Pradesh

(B) Delhi
(D) Rajasthan

Question Id : 89
Which one of the following was 21st district of
Haryana?

(A) Gurugram (B) Mahendragarh

(€) Yamunanagar (D) Palwal

Question ld : 90
Shri Kaptan Singh Solanki is Governor of
Haryana.
(A) 13th (B) 16th
(C) 14th (D) 15th

Question Id : 91

The birth place of Yoga Guru ‘Baba Ram Deo’ is in
the district of

(A) Gurugram (B) Rewari
(€} Mahendragarh (D) Bhiwani

Question Id : 92
Which is the State Bird of Haryana?
(A) Hawk (B) Pigeon
(€) Black Francolin (D) Peacock

Question Id : 93
Who was the Editor of ‘Haryana Tilak' weekly

magazine?
(A) Nekiram Sharma

(€) Baldeo Singh

(B) Shriram Sharma
(D) Sir Chhotu Ram

Question Id : 94
Whom did Akbar defeat in the Second Battle of
Panipat?
(A) Bairam Khan (B) Udai Singh
(€) Rana Pratap (D) Hemu

Question Id : 95

Area-wise which of the following is smallest
district of Haryana?
(A) Sirsa

(C) Panchkula

(B) Hisar
(D) Jhajjar

Question Id : 96

89.

90.

9t

92.

93.

94,

95.

96.

RO % SO} | FEfaRed § @ e |91 I
Rera 22

(A) TR Y9 (B) faoel!
(©) feyrer U (D) oI

Question Id : 89
g & @ oF 91 Nen sRaon a1 2@t Ry
272
(A) "I (B) wRvTe
(©) IJHAFR (D) yeraer

Question Id : 90
5§ M g ool sRaon &
I |
(A) 133 (B) 16
(©) 149 (D) 159

Question Id : 91
AN o 96T IMRT H o I e el A
(A) TEIH (B) ars!
(©) weTE (D) fygr=

Question Id : 92
=R BT ST G BN AT 872
(A) qrat (B) PR
(€} wrem iR (0) #R

Question Id : 93
=R o awfes u¥er & quees dH
7
(A) SoRW Ml (8) Ty v
(€ sora Ris (D) TR BIER™

uelud @ g dASTE W ABER | fhd] IR

Y o 08 A
ol 91?7

(A) SRE @F B (B) SeaRiz @
(C) <o yaY @l (D) B @

Question Id : 95
gA%e & AR e d 9§ sRamT @1 W™
BIeT el B 1 82

(A) fear
(C) Yagper

(B) fZER
(D) TSR

Question Id : 96
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97.

98.

99.

100.

Who is the Home Minister of Haryana?
(A) Rambilas Sharma  (B) Captain Abhimanyu
(C) Manohar Lal Khattar (D) Rao Narbir Singh

Question Id : 97

The International Crafts Mela of Surajkund is
organised at which district?
(A) Karnal (B) Gurugram

(C) Ambala (D) Faridabad

Question Id : 98

Who is the Agriculture Minister of Haryana State?
(A) Shri Ram Bilas Sharma

(B) Shri Anil Vij
(€) Shri Omprakash Dhankar
(D) None of these

Question Id : 99

In Haryana Legislative Assembly who is leader of
opposition?
(A) Bhupinder Singh Hooda

(B) Om Prakash Barwa
(€) Abhay Singh Chautala
(D) None of these

Question Id : 100

o7. ERTTT &1 ' = B 22
(A) =fSers w=t (B) F=st Irftpr=y
(€) #9ER & @eex (D) @ AR Rig
Question Id : 97
98. YISIGE HT AR Bioed Ferl fpa el &
MG BT 892
(A) BT (B) roum™
(C) 2fqreT (D) wiETETe
Question Id : 98
99. ERATT 5T F HN A P 2
(A) it vHfdemg st (B) 2 st o
() =% MBI ghS
(D) 579 & ®iy
Question Id : 99
100. gRIToT fAg™ 991 9§ ®i fouer &1 A4 27

(A) iz e ge1 (B) 3l vorr A=A
(©) sy Rizg deen (D) 37 @ 31 T

Question Id : 100
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